



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^0 - \frac{2}{5} =$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{6} =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{141}{4} = 35\frac{1}{4}$$

$$\left(-\frac{1}{5}\right)^0 - \frac{2}{5} = \frac{3}{5}$$

$$\left(\frac{3}{4}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{51}{2} = 25\frac{1}{2}$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \frac{11}{2} = 5\frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \left(-\frac{27}{5}\right) = \left(-5\frac{2}{5}\right)$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \left(-\frac{17}{5}\right) = \left(-3\frac{2}{5}\right)$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{1}{2} = \frac{19}{2} = 9\frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \left(-\frac{13}{4}\right) = \left(-3\frac{1}{4}\right)$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{127}{36} = 3\frac{19}{36}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{5} = \frac{14}{5} = 2\frac{4}{5}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{5}\right) = \frac{11}{5} = 2\frac{1}{5}$$

$$\left(\frac{1}{3}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{17}{2} = 8\frac{1}{2}$$

$$\left(\frac{3}{5}\right)^{(-1)} - \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{3}{5} = \frac{29}{15} = 1\frac{14}{15}$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \frac{28}{5} = 5\frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{2}{5}\right) = \frac{23}{45}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{3}\right) = \left(-\frac{1}{6}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{6} = \left(-\frac{1}{150}\right)$$